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QUESTION 1

According to the ISTQB Advanced syllabus, which of the following would be the MOST efectve method of
communicaton between test team members who are distributed across several tme zones? [K2] 1 credit

A. Accurate recording of defect informaton in the defect tracking system

B. Acceptng frequent builds from the developers to keep all testers working on the same version at the same tme
C. Skype meetngs for personal interacton

D. Weekly, mandatory meetng with all personnel present

Correct Answer: A

QUESTION 2

Apart from state transiton testng, which other specifcaton-based technique would you additonally choose to test the
interfaces between components of "Route Calculaton” and thus typically fnd diferent types of defects?

Colour D-F G-J K-M N-R S-Z
| Grade | Colourless Near Faint Very light Light
Colourless yellow yellow yellow

Identfy the MOST likely technique from the following list. [K4] 3 credits
A. Equivalence Parttoning

B. Use Case Testng

C. Orthogonal Arrays

D. Decision Testng

Correct Answer: A

QUESTION 3

You are applying pairwise testng and using orthogonal arrays. The following steps are all part of the process to be
followed. i) Determine the number of choices for each variable ii) Map the test problem onto the orthogonal array iii)
Construct the test cases iv) Identfy the variables v) Locate an appropriate orthogonal array What is the correct order of
the above mentoned process steps? [K3] 2 credits

A, iy v, v, i
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B. iv, i, v, iii, i
C.iv, i, iii, v, ii
D.iv, i, v, ii, iii

Correct Answer: D

QUESTION 4

Study the "Supercar" classifcaton tree, which of the following statements is correct?

Ll : L L ll L

[K3] 2 credits

A. The classifcaton tree is correct and complete
B. The optons for "“in stock" are missing

C. Order informaton is missing

D. The error message is missing

Correct Answer: B

QUESTION 5

A SUMI test was performed at an early stage within the system test. Hereafer you fnd the results of the SUMI test.
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Based on these results, what would you recommend as the most appropriate approach for usability testng? [K4] 3
credits

A. Since the SUMI scores are largely above market average no further acton on usability is needed
B. Since the standard deviaton of most SUMI scales is much too large, a new SUMI test must be performed

C. Since the scores are not really showing a high level of user-satsfacton additonal usability testng based on use case is
needed

D. Since the SUMI results do not provide details, an additonal focused heuristc evaluaton on the lower scales is
recommended

Correct Answer: D
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